QUESTION PATTERN OF MODERN COMPUTER

APPLICATION
B MCQ SA Descriptive
Sl.no. Unit (21 Nos.) (14 Nos.) (5 Nos.) TOTAL
(1 mark) (1 mark) (7 marks)
| A. (i) Evolution of computers 20x1M=2 1Qx1M=1 ' 20x7M=14 17
. and computer Organization

2, A. (ii) Data Representation 2x1=2 Ix1=1 Ix7=7 10

St A.(iii) Boolean Algebra 2x1=2 4x1=4 1x7=7 13
Group A 40

4. | B.Software and Languages | 2x1=2 lxl=1 1x7=7 10
Group B 10

5 C. Programmmg using Visual . 4x]1=4 i 10

Basic

Group C 10

2 D. Word processing using Ms Ax]=4 1x1=1 i 5

Word
Group D 3
E. Power point presentation . . i

7 using M8 Word 3x1=3 2x1=2 5

Group E 5
SUMMARY 21marks | 14marks | 35marks | Lotal-=70

marks
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Special credit will be given for answers which are brief and to the point.
Marks will be deducted for spelling mistakes, untidiness and bad handwriting.

Figures in the margin indicate full marks for the questions.

fTen -

MCQ Type Questions :
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a)
c)

Vacuum Tube b) VLSI
IC d) Transistor.

2. Visual Basic-9 Integer 261 436
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Short Answer Type Questions :
1. (B23),,-a% Al fFefy w2

2. Visual Basic-9 variable I5(@ & @R ¢
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Broad Type Questions ;
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fA=fE1® DOS Command @@ 'Type' 8 'Syntax' (14 :

i DIR iy MD iiijy TYPE.
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GROUP - A

MCQ Type Questions :

1. The Technology of Third Generation Computer is

a) Vacuum Tube
c) IC
2. ’ In Visual Basic Integer is a
a) Data Type
c) Controls
GROUP
Short Answer Type Questions :

1. (B23),., convert it to Binary.

16’
2.  What is variable in Visual Basic ?

GROUP
Broad Type Questions :

b)
d)

b)

d)
-B

-C

VLSI

Transistor.

Memory
Loop.

1 mark each

1 mark each

7 marks each

1. a F :Z(0,2,3,5,7), write down the Truth Table and also find out the

logic expression. q

b) Prove that AB+ AB=AB+AB. 3

2. a) Give one advantage and one disadvantage of computer high level
language. 2

b) Give two functions of an operating system. 2

c) State the 'type' and 'syntax’ of the following DOS commands : 3

iy DIR ii)

MD

1ii)

TYPE.



